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1st Semester Examination

GEOGRAPHY (General)
Paper : DSC 1A-T

Physical Geography
Full Marks : 60 Time : 3 Hours
The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.
Group-A
1. Answer any fen questions : 2x10=20
(a) Define physical geography.

(b) Write the importa;lce of evaporation in
Hydrological cycle.

(c) What is ‘Insolation’ 7
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(2)
(d) What is ITCZ ?

(¢) Define ‘Atmospheric Window’.

(f) What is an albedo ?

(g) What is solar constant ?

(h) Define saturated adiabatic lapse rate.
(i) What is convergent plate boundary ?
() How is a pediment formed ?

(k) What is plate margin ?

() What is primarrumpf ?

(m) What is Moho discontinuity ?

(n) Write the characteristics of ‘B’ type climate of
Koppen’s classification.

(0) What is spring tide ?
Group-B
. Answer any four questions ; 3x4=20

(@) Give an account of the orision of different plate

margins.



(3)

(b) What are aerosols ?

(c) What are the effects of ‘Inversion of
temperature’ ?

(d) Classify different types of tides.

(¢) Differentiate between ‘Mantle’ and ‘core’ in the
light of Internal structure of the Earth.

Group-C
3. Answer any two questions : 10x2=20
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Briefly discuss the different landforms under
ocean floor on the basis of plate techtonics.

Discuss how does the global hydrological cycle
maintain the physical and biological system of
the earth.

Describe the Planetary wind circulation pattern
with suitable diagram.

Discuss the Internal structure of the earth based

on seismic evidences.
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